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Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

1. Neither the students nor the teachers 

gave his consent to the new 

arrangement. 

A. their consent for B. their consent on 

C. his consent on D. his consent in 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

2. During the winters, the food put off by 

householders is the only form of 

sustenance that the birds have. 

A. Put up   

B. Put out 

C. Put on   

D. Put down 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

3. The bank’s philosophy is to make sure 

that the employees are content, have the 

skill to be creatively challenged and 

commits toward this growth. 

A. committed to the growth of employees 

B. commit it to bank growing 

C. commit towards the bank's growth 

D. commit towards their growing 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

4. The archaic man presuming that a 

crime created a disproportion, which 

could be corrected by punishing the 

lawbreaker. 

A. presumed that a crime creates 

B. presumes that a crime created 

C. presumed that a criminal created 

D. presumed that a crime created 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

5. It is said that in ancient China, doctors 

were paid when their patients is well. 

A. Their patients do well 

B. Their patients are well 

C. Their patients were well 

D. Their patients was well 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

6. The officer rebuked the peon and I 

for neglecting the duty. 

A. rebuke the peon and I 

B. rebuked the peon and he 
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C. rebuked the peon and me 

D. rebuked the peon and I am 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

7. Jacksonville Jaguars wide receiver 

Keelan Cole took one of the best catch 

you will ever see in the first quarter of 

their game against the New England 

Patriots. 

A. Best catches you will 

B. The best catch you would 

C. The most best catch you will 

D. The best catches you will 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

8. The wealthier a nation gets, more it 

stands to lose in war, and the less 

marginal utility it gains in conquest. 

A. more than it stands to lose 

B. the more it stands to lose 

C. the more it stand to lose 

D. the most it stands to lose 

E. no correction required 

 

9.Jacksonville Jaguars wide receiver 

Keelan Cole took one of the best catch 

you will ever see in the first quarter of 

their game against the New England 

Patriots. 

A. Best catches you will 

B. The best catch you would 

C. The most best catch you will 

D. The best catches you will 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

10. New proposals have been put forth 

to break the dreadlock among rival 

factions. 

A. put across   

B. put off 

C. put about   

D. put through 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

11. Neither of the child seems 

concerned about the flight. 

A. Neither of the child 

B. Neither the child 

C. Neither of the children 

D. Neither the children 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

12. Alex didn't like high spiced food, so 

she decided to bake Cornish game hens 

for the base of the meal. 

A. like high spiced up food 

B. like highly spiced food up 

C. like highly spicely food 
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D. like highly spiced food 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

13. Monsoons, which hit the southern 

coast late last month, are expected to 

have made slow progress within the 

next two weeks. 

A. To make slow progress in the previous 

two weeks  

B. To be making slow progress with the 

next two 

C. To make slow progress on the next two 

D. To make slow progress over the next 

two 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

14. The PM said that the digital literacy is 

rising and pension-related issues of 

elderly are now getting resolved in 

technology. 

A. the elderly are now getting resolved by 

B. elderly are resolving by 

C. elderly are getting resolve through 

D. the elderly are now getting resolved 

behind 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

 

15. Gold imports during the month in 

review dipped by 29.85 percent to USD 

3.48 billion as against USD 4.96 billion. 

A. review in month 

B. monthly review 

C. month under review 

D. month in reviews 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

16. Commercial enterprises can capitalize 

on second-mover advantages to increase 

competition and push along costs of 

space travel as NASA absorbs these 

pioneering costs. 

A. Push off   

B. Push forward 

C. Push aside   

D. Push down 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

17. The World Trade Center featured the 

landmark Twin Towers, which opened 

in April 4, 1973, as were destroyed in 

2001 during the September 11 attacks. 

A. Which opened in April 4, 1973, and 

were destroyed in 2001 

B. Which opens on April 4, 1973, and 

were destroyed in 2001 

C. Which opened on April 4, 1973, and 

were destroyed in 2001 
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D. Which was opened in April 4, 1973, 

and was destroyed in 2001 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given 

sentence is correct, your answer will be 

option (E), i.e., "No correction required".  

18. Mr Antoine was keen of buying the 

latest technology gadgets for his younger 

son, Edward. 

A. Was keen to buy 

B. Were keen on buying 

C. Were keen to buying 

D. Was keen in buying 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required".  

19. The alumni association of the college 

has threatened to go on a hunger strike 

for support for the current student’s 

demands. 

A. Hunger strike on support of 

B. Hunger strike to support of 

C. Hunger strike for supporting of 

D. Hunger strike in support of 

E. No correction required 

 

Direction: In the given question, a part 

of the sentence is printed in bold. Below 

the sentence, alternatives to the 

emboldened part are given as (A), (B), 

(C) and (D), which may help improve the 

sentence. Choose the correct alternative 

out of the given five options. In case the 

given sentence is correct, your answer 

will be option (E), i.e., "No correction 

required". 

20. He swore that the tip came from 

someone, unidentified, but close to the 

rapper. 

A. Unidentify   

B. Exaggerated 

C. Unknow   

D. Undistinguish 

E. No correction required 

 

To know the solutions, click on the link 

provided below 

https://www.youtube.com/watch?v=P44E-
5EZlYU&feature=youtu.be 
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